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MCO-07 

MASTER OF COMMERCE 

Term-End Examination 	0 4 2 9 4 
June, 2014 

MC0-07 : FINANCIAL MANAGEMENT 

Time : 3 hours 	 Maximum Marks : 100 
Weightage : 70% 

Note : 	Attempt any five question. All questions carry equal 

marks. 

1. (a)  Discuss the meaning and nature of Finance 12+8 
Function. 

(b)  In what ways is the wealth maximisation 
objective superior to the profit maximisation 
objective ? Explain. 

2. (a)  Discuss the concept of Return and its 8+12 
different dimensions. 

(b)  What is CAPM model and its use to 
determing the stock prices ? 

3. (a) What is capital budgeting ? Why is it 
significant for a firm ? 	 10+10 
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(b) Equipment A has a cost of Rs. 75,000 and 
net cash flow of Rs. 25,000 per year for six 
years. A substitute equipment B would cost 
of Rs. 60,000 and generate net cash flow of 
Rs. 24,000 per year for six years. The 
required rate of return of both equipments 
is 10%. Calculate NPV for both the 
equipments. Which equipment should be 
accepted and why ? PV interest factor Re 1 
at 10% 

Year 1 2 3 4 5 6 
Value .909 .826 .751 .683 .620 .565 

4. (a) Define Cost of Capital ? Explain its 
significance in financial decision - making. 

(b) What is Capital Rationing ? Explain with 
suitable example. 	 10+10 

5. (a) What is a debenture ? Explain the features 
of debenture. 

(b) What is difference between the primary 
market and the secondary market ? Briefly 
describe some significant developments in 
the stock market. 

7+13 

6. (a) Give an overview of project finance also 
discuss the criteria for successful project 
financing. 

10+10 
(b) What is Venture Capital ? Discuss the 

regulations of SEBI on Venture Capital 
funds in India ? 
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7. (a) Explain the concept of financial leverage. 
Show the impact of financial leverage on 
earnings per share. 	 10+10 

(b) Explain the nature of the factors which 
influence the dividend policy of a firm. 

8. (a) How is working capital affected by (i) sates, 
(ii) technology and (iii) production policy ? 
Explain. 	 10+10 

(b) Why should inventory be held ? Explain the 
objectives of inventory management ? 

9. (a) Discuss the concept of Optimal Capital 
Structure. 	 8+12 

(b) The following data is available for ABC Ltd. 

(Rs•) 
Sales 8,00,000 /- 
Variable Costs 4,50,000 /- 
Fixed Cash 80,000 /- 
Debt 5,00,000 /- 
Interest on Debt @ 10% 
Equity Capital 6,00,000 /- 

Calculate ROI, Operating, Financial and 
Combined leverage. Also ascertain the level 
at which EBIT will be zero. 
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3TAWdri 34-  : 100 

35ci 	:70% 

Va-  : f7.671:/fw so-f7 dr.R cOr,/ki / 	sal)* 4--  37'w RR-iv t, 

1. (a) fq-Uizi 4)14 3T2i 74 3itt 11 	T1* I 12+8 

(b) 	aTftrWalq cbt4 	dO1 
31-N-waTr 4)(4 	T .14 	mchR 4t-d-T t? 
co-11(Sell --11--A7 

2. (a) 111174 	TfT.-triT2TT P:ft Farif9 3fi 
(dimensions) 	W.-A.7 I 	 8+12 

(b) ttql-  41'.14-4R-1 	19•417171 4-Irso (CAPM) 
qzrr t SETT wwr 	--11:r-al*ffftTi-tur 	71-r 

ci-zhrr t? 

3. (a) k..?-0 A7itTT WI? zrt TO 	wht 
t? 	 10+10 
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(b) 	34chtUl 'A' chl riNici 75,000 T. t 317 

tE*7 1;1-41t 0: -T56 d -51-f9 014 25,000 T. 

t I Lm Sit 34chtul 	-1 ,4-)1 ciptci 60,000 T. t 

3-71-T r=1 	#-*7 -51-q7- -0: qlsffday mrd 

24,000 T. 	--trIT I q1-1).  34chkuif 1:)1 317:1-fm 

5Ic .114i 7 10% t I q-1-1).  

117 ficf -A-r-- 	TIT d'ichtul 717 f IT 
W9T 111- 	c14.? 

T. 	10% 'TT -q4-179 1:FT : 

-11 1 2 3 4 5 6 

9T .909 .826 .751 .683 .620 .565 

4. (a) 	rn1 olnd cb1 LiroTitfr q'lr,TR I fqq1-zr f9-71--4 

-wT4 	 0.61ksii 1rA7I 	10+10 

(b) 	t I 317Wr 3q1(ul i TIT2T 	 

5. (a) 	r8:rik cf-611 1c11 t? 	 cf:)1 fq71-urd-r3ff 

qui-9I 	 7+13 

(b) 	-51-121fiTTIII iR 3117 	'11\71R 14 c1-61I 34-97 t? 

-e214) .fl \IR 14 TO 11176 tq*-R4 ohl #K971 

quiff 

6. (a) 	4 	0 	 1-41.10-1,4)-1 

rc-R 

(b)   ? 71faTE 	1T 	(SEBI) 
10+10 
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7. (a) 	fq--1-74 	T chl -Ichc-L1-11 c 	01 (se4 f .1-F7'R I 

31TTI -GUT fq-4T74-' 	 3fiTrq 	I 
(b) 	 ah1 rrf1.1fT tfa.  zrt 511Tifd7 	--4f chl 

-9-ffff .11 oe-IR(Ai 	I 	 10+10 

8. (a) 	ohl 	-itt (i) fqwzi, 	ch 3 (iii)z-eTrq 
-nrn f-*-F 	31Trr-q-d.  6141 t? 	 10+10 

(b) TariT    qiirt7? 	 -uk9:41 

4)1 «4 Rsq Itr-•-4 

9. (a) 	d.c-1.1-1 	 4;1.  4ch c4-1-11 oh 01 111 	11 i I 8+12 
(b) 7.1T1t.  	3TN Fi4-1 Fri 	ro 	: 

T. 

f-d----?:( 8,00,000 

miftdl ril4M 4,50,000 

80,000 t di4ici 

5,00,000 *pi  (debt) 

10% Atuf -crT . 1-r-q-  @ 

fr-qat I-4/ 6,00,000 

m(-qii, 	 facer 

4)1 I UN 	I 7I 1 	 6 -474 BIZ ITT 

EBIT -qP4 	I 
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